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The Remainder Theorem

Evaluate each polynomial at the given value of =

1y f) = - 2 - 18 %"+ Br+ 451 atw=10 e =t + 8+ 18 + 24 u + A5 aty = -1

WMy = k- 20%°-129 atx= -1 M=o+ 3xt - An- 1D atu=2

Determine whether each binomial is a factor of the given polynomial.

et -BX A TR 12 -18) 1 (K- D) B) Y+ Q3"+ I3+ IT N+ BOY - 0+ B

Tt -2 - @m oo D B At An-1B) + Mo+ 4)

Divide each polynomial by the given hinomial.

By -xT -G+ 3w+ 362 -3 100 @+ 8’ + 237+ 27w + 60 = (0 + 3D

T3 @ - 2B s - B 120 - 2 u - 25 + 80 « (- 3
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